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Kolkata Police Constable (Prelims) Exam. – Practice Set

Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (b) †yõþ#éôéxyîûvþz£z̃  ‰%þ!_« ¦þyîûöì“þîû xy£z̃  x›y˜Ä xyöì̈ yœöì̃ îû
¢öìD ë%_« !ŠéœÐ
‰%þ!_«!Ýþ ›£ydy †yõþ# ~î‚ œvÅþ xyîûvþz£z̃  ßþºyÇþîû „þöìîû!Šéöìœ˜Ð
‰%þ!_«!Ýþ ßþºyÇþ!îû“þ £öìëû!Šéœ 5 ›y‰Åþ 1931 ¢yöìœÐ œuþöì̃
!m“þ#ëû ö†yœöìÝþ!îœ ÷îàþöì„þîû xyöì† ~£z ‰%þ!_« ßþºyÇþ!îû“þ £ëûÐ

2. (b) î“Åþ›yöì̃  22!Ýþ ¦þy¡ìy ¦þyîû“þ#ëû ¢‚!î•y˜ myîûy ßþº#„,þ“þÐ ö¢=!œ
£œéôôôé S1V x¢›#ëûy S2V îy‚œy S3V öîyöìvþüy S4V övþy†!îû
S5V =‹îûy!Ýþ S6V !£!¨ S7V „þ§¬vþü S8V „þyÙÂ#!îû S9V ö„þyBþ!’
S10V ›yœëûyœy› S11V ›!’þ™%îû# S12V ›yîûy!àþ S13V ÷›!í!œ
S14V ö˜þ™y!œ S15V ç!vþüëûy S16V þ™yOy!î S17V ¢‚ßþ,ñ“þ
S18V ¢¤yç“þy!œ S19V !¢!õþ S20V “þy!›œ S21V ö“þœ%=
S22V vþz”Å%Ð

3. (a) ¢y“þþ™%îûy þ™îÅ“þöì×!’ ”y!Çþ’y“þÄ ›yœ¦)þ!›îû ~„þ!Ýþ x‚ŸÐ ~!Ýþ
²Ìyëû 900 !„þöìœy!›Ýþyîû ”)îûc þ™ëÅhsþ ²Ì¢y!îû“þÐ
•%þ™†vþü ¢y“þþ™%îûy þ™îÅ“þöì×!’îû ¢öìîÅyF‰þ Ÿ,DÐ

4. (b) vþz†y!” vþzê¢î !£¨%îûy ˜îîöì¡ìÅîû !”öì̃  þ™yœ˜ „þöìîûÐ „þ’ÅyÝþ„þ–
xõÉþ²Ìöì”Ÿ ~î‚ ö“þöìœDy˜yëû x“þÄhsþ vþzê¢y£ ç xyöìîöì†îû
¢yöìí ~£z vþzê¢î þ™y!œ“þ £ëûÐ

5. (d) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 23-24 ˜‚ •yîûyëû öŸy¡ìöì’îû !îîû&öìkþ
ö›ï!œ„þ x!•„þyöìîûîû „þíy îœy £öìëûöìŠéÐ

6. (a) ¢öìhsþy¡ì ÝþÆ!šþ £œ ~„þ!Ýþ ¦þyîû“þ#ëû š%þÝþîœ Ý%þ˜Åyöì›rÝþ ëyöì“þ îûy‹Ä
~î‚ !„þŠ%é ¢îû„þy!îû ²Ì!“þÛþy˜ x‚Ÿ@ùÌ£’ „þöìîûÐ 1941 ¢yœ
öíöì„þ ²Ì!“þîŠéîû ~£z Ý%þ˜Åyöì›rÝþ x˜%!Ûþ“þ £ëûÐ 1941 ¢yöìœ ~£z
²Ì!“þöìëy!†“þyëû îy‚œy ‹ëû# £öìëû!ŠéœÐ

7. (a) öë¢î ö¦þï“þîûy!Ÿîû ›y˜ ç x!¦þ›%… ”%£z xyöìŠé “þyöì„þ ö¦þQîû
îûy!Ÿ îöìœÐ vþz”y£îû’éôô öî†– ¢îû’– îœ– ¦þîûöìî†– cîû’Ð

8. (a) ›y£zöìÝþy!¢¢ ö„þy¡ì!î¦þy‹öì̃ îû ö›Ýþyöìšþ‹ þ™ëÅyöìëû ›y„%þ¢”,Ÿ “þlsþ
÷“þ!îû £ëû ~î‚ öe«yöì›yöì‹yöì›îû „þy£zöì̃ öìÝþy ö„þyöìîûîû ¢yöìí
¢‚ë%_« £ëûÐ

9. (a) ö†ï“þ›î%kþ „%þ!Ÿ˜†öìîû Sî“Åþ›yöì̃  vþz_îû²Ìöì”öìŸV ›£yþ™!îû!˜îÅy’
œy¦þ „þöìîû!Šéöìœ˜Ð ›£yþ™!îû!˜îÅyöì’îû xíÅ £œ ‹y@ùÌ“þ ¢_ýîû
myîûy ²Ìy® !˜îÅyöì’îû ‰)þvþüyhsþ xîßþiyÐ

10. (b) !m“þ#ëû þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜y
11. (c) 1887 ¢yöìœ î”îû&!j˜ “þyöìëûî!‹ ¦þyîû“þ#ëû ‹y“þ#ëû „þ‚öì@ùÌöì¢îû

²Ìí› ›%¢!œ› ¢¦þyþ™!“þ ~î‚ „þ‚öì@ùÌöì¢îû “,þ“þ#ëû ¢¦þyþ™!“þ
£öìëû!Šéöìœ˜Ð

12. (b) œöìÇøþï ‰%þ!_« £œ 1916 ¢yöìœîû !vþöì¢Áºöìîû œöìÇøþïöì“þ x˜%!Ûþ“þ
¦þyîû“þ#ëû ‹y“þ#ëû „þ‚öì@ùÌ¢ ~î‚ ›%¢!œ› !œöì†îû ›öì•Ä ~„þ!Ýþ
‰%þ!_«Ð œöìÇøþï ‰%þ!_«!Ýþ !£¨%éôé›%¢!œ› úöì„þÄîû „þyöìŠé xyŸyîû

xyöìœy !£¢yöìî ö”…y !”öìëû!ŠéœÐ îyœ †Dy•îû !“þœ„þ ç ›£Á¿”
xy!œ !‹§¬yîû ›öì•Ä 1916 ¢yöìœ œöìÇøþï ‰%þ!_« ßþºyÇþ!îû“þ
£öìëû!ŠéœÐ

13. (c) šþ¢šþ!îû„þ xÄy!¢vþ £œ î’Å£#˜– †õþ£#˜– ßþ³þ!Ýþ„þ “þîûœÐ ~îû
îûy¢yëû!˜„þ ¢‚öì„þ“þ H3PO4Ð ~!Ýþ ~„þ!Ýþ ”%îÅœ xÄy!¢vþÐ

14. (d) xy†Åöì̃ îû ¢›hßþ þ™)’Å „þÇþþ™öìíîû þ™yŸyþ™y!Ÿ ~„þ!Ýþ þ™)’Å öëy‹Ä“þy
„þÇþ îûöìëûöìŠéÐ šþœßþºîû*þ™ ~!Ýþ ö„þy˜ç £zöìœ„þÝþÆ̃  £yîûyöì“þ îy
œy¦þ „þîûöì“þ ‰þyëû ˜yÐ ¢%“þîûy‚ xy†Åöì̃ îû £zöìœ„þÝþÆ̃  xy¢!_«
¢îÅ!˜Á¬Ð

15. (d) x:y!œ„þ xÄy!¢vþ ~„þ!Ýþ îûy¢yëû!˜„þ öëï† ëy šþœ– ¢î!‹
~î‚ Ÿ¢Ä vþz!q”¢£ ²Ìyëû ²Ì!“þ!Ýþ vþz!qöì” ²Ìy„,þ!“þ„þ¦þyöìî þ™yçëûy
ëyëûÐ Ýþöì›öìÝþyöì“þ x:y!œ„þ xÄy!¢öìvþîû þ™!îû›y’ ²Ì!“þ 100
@ùÌy› Ýþöì›öìÝþyöì“þ ²Ìyëû 5.0 !›!œ@ùÌy›Ð

16. (c) šþÄyÝþ Ç%þoyöìsþf öþ™¤ïŠéyöì̃ yîû þ™îû ö¢…yöì̃  ¢Á™)’Åîû*öìþ™ þ™y!‰þ“þ
£ëûÐ

17. (a) öë ¢)e!Ýþöì“þ ”þ™Åöì’ îlßþîû ”)îûc (u), !‰þöìeîû ”)îûc (v) ~î‚
öšþy„þyœ ÷”‡ÅÄ f ~îû ›öì•Ä ¢Á™„Åþ ö”…yëû “þyöì„þ ”þ™Å’ ¢)e
îöìœÐ

”þ™Å’ ¢)e £œ 
1 1 1
f v u
 

18. (d) îûrÝþöì‹˜ £œ ~„þ ‡˜ ö¢!rÝþ!›Ýþyöìîû îy“þyöì¢ †y›y îy ~:öìîû
!î!„þîû’ myîûy vþzêþ™y!”“þ Ÿ!_«îû þ™!îû›y’Ð !îKþy˜# vþz£zœöì£›
„þ˜îûyvþ îûrÝþöì‹öì̃ îû ˜y›y˜%¢yöìîû îûrÝþöì‹˜ ˜y›„þîû’ „þîûy
£öìëûöìŠéÐ !“þ!˜ 1901 ¢yöìœ ~:öìîû xy!îßþñyöìîûîû ‹˜Ä ö˜yöìîœ
þ™%îûßþñyîû œy¦þ „þöìîû̃ Ð

19. (d) îû*þ™y £œ !î”%Äê ¢Mþéyœöì̃ îû ‹˜Ä ¢öìîÅy_› •y“%þ ~î‚ x˜Äy˜Ä
•y“%þîû “%þœ˜yëû x!•„þ ÷î”%Ä!“þ„þ þ™!îûîy£#Ð îû*þ™yîû öîûy• Çþ›“þy
x˜Äy˜Ä •y“%þîû “%þœ˜yëû „þ›Ð

20. (a) îyÍº=!œ !šþœyöì›öìrÝþîû ›y•Äöì› ÷î”%Ä!“þ„þ ²Ìîy£ ö²Ìîû’ „þöìîû
!î”%Ä“þöì„þ xyöìœyöì“þ þ™!îû’“þ „þöìîûÐ ~!Ýþ •y“þî Ýþy‚öìÞÝþ˜ !”öìëû
÷“þ!îûÐ

21. (b) ÝþyÝþy ¢öìªîû ö‰þëûyîû›Äy˜ îû“þ˜ ÝþyÝþy xöìßþT É!œëûyîû ¢öìîÅyF‰þ
x¢y›!îû„þ ¢Á¿yöì̃  ¦)þ!¡ì“þ £öìœ˜Ð ¦þyîû“þ ç xöìßþTÉ!œëûyîû
›öì•Ä !mþ™y!Çþ„þ ¢Á™„Åþ î‹yëû îûy…yîû ‹˜Ä “¤þyöì„þ ~£z þ™%îûßþñyîû
²Ì”y˜ „þîûy £œÐ

22. (c) !e«öìÞÝþyšþyîû ö˜yœy˜ 96“þ› xÄy„þyöìvþ!› þ™%îûßþñyöìîû ö¢îûy
þ™!îû‰þyœöì„þîû ‹˜Ä xßþñyîû !‹“þöìœ˜Ð !e«öìÞÝþyšþyîû ö˜yœy˜
çöìþ™˜öì££z›yîû þ™!îû‰þyœ˜yîû ‹˜Ä xßþñyöìîû ›öì̃ y˜#“þ £öìœ˜Ð
2024 ¢yöìœîû 10 ›y‰Åþ “¤þyöì„þ ~£z þ™%îûßþñyîû ²Ì”y˜ „þîûy £œÐ



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 1  ö›– 20242

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

23. (c) ”Ä îëû xÄyuþ ”Ä ö£îû̃  2024 ¢yöìœ ö¢îûy xÄy!˜öì›öìÝþvþ
!šþ‰þyöìîûîû ‹˜Ä xßþñyîû öþ™œÐ 96“þ› xÄy„þyöìvþ!› xÄyçëûyvÅþ
x˜%Ûþyöì̃  ~£z þ™%îûßþñyöìîû þ™%îûßþ,ñ“þ £œÐ

24. (a) Our World, Our Thriving Future
25. (c) Bridging Gaps, Building Alliances
26. (b) ~!Ýþ þ™!Øþ› î•Å›y˜ ö‹œyîû ~„þ!Ýþ x‚ŸÐ ¢Mþéöìëûîû !”„þ öíöì„þ

¦þyîûöì“þîû ²Ìí› î,£_› „þëûœyöìÇþeÐ ~!Ýþ £œ ²Ìí› ßþiy˜
öë…yöì̃  ¦þyîûöì“þ „þëûœy …˜˜ Öîû& £öìëû!ŠéœÐ

27. (d) xy„þîîû îûy‹y ›y˜ !¢‚éôéö„þ šþîû‹¨ vþzþ™y!• ö”˜Ð îûy‹y ›y˜
!¢‚ !Šéöìœ˜ îûy‹ßþiyöì̃ îû ²Ìí› Ÿy¢„þÐ !“þ!˜ 1562 ¢yöìœ
xy„þîöìîûîû ”îûîyöìîû öëy† ö”˜Ð

28. (d) ‹%çœ!‹„þÄyœ ¢yöì¦Åþ xšþ £z!uþëûy £œ ¦þyîû“þ ¢îû„þyöìîûîû ~„þ!Ýþ
¢‚ßþiyÐ ‹%çœ!‹„þÄyœ ¢yöì¦Åþ xšþ £z!uþëûyîû ¢”îû ”®îû
„þœ„þy“þyëû xî!ßþi“þÐ

29. (b) !”!ÍÔîû ¢%œ“þy˜# xy›œ þ™¤y‰þ!Ýþ îûy‹î‚Ÿ myîûy Ÿy!¢“þ £öìëû!ŠéœÐ
~£z þ™¤y‰þ!Ýþ îûy‹î‚Ÿ £œéôôôé
(i) ”y¢ îûy‹î‚Ÿ (1206-90) (ii) …œ!‹ îûy‹î‚Ÿ (1290-
1320) (iii) “%þ‡œ„þ îûy‹î‚Ÿ (1320-1413) (iv) ÷¢ëû”
îûy‹î‚Ÿ (1414-51) (v) öœy”# î‚Ÿ (1520-1526)

30. (b) 44“þ› ¢y‚!î•y!˜„þ ¢‚öìŸy•˜#– 1978.
31. (d) Ÿy£‹y£y˜ “¤þyîû Ÿy¢˜„þyöìœ ›%‡œ îûy‹•y˜# xy@ùÌy öíöì„þ

!”!ÍÔöì“þ ßþiy˜yhsþ!îû“þ „þöìîû̃ Ð Ÿy£‹y£yöì̃ îû xy¢œ ˜y› !Šéœ
…%îûîû›Ð !“þ!˜ “þy‹›£œ ÷“þ!îû „þöìîû!Šéöìœ˜Ð

32. (b) 1975 ¢yöìœ ßþºy›# ”ëûy˜¨ ¢îûßþº“þ# öîyöìÁºöì“þ xyëÅ ¢›y‹
²Ì!“þÛþy „þöìîû̃ Ð !“þ!˜ œyœy œy‹þ™“þ îûyöìëûîû !Ÿ¡ìÄ !Šéöìœ˜Ð
ßþºy›# ”ëûy˜¨ ¢îûßþº“þ#îû xy¢œ ˜y› ›)œŸBþîûÐ

33. (b) îûyöì‹w !¢‚ ¦þyîûöì“þîû òçëûyÝþyîû ›Äy˜ó ˜yöì› þ™!îû!‰þ“þÐ
34. (c) xíÅ „þ!›Ÿ˜ £œ ~„þ!Ýþ ¢y‚!î•y!˜„þ ¢‚ßþiyÐ ~!Ýþ ¦þyîû“þ#ëû

¢‚!î•yöì̃ îû 280 ˜‚ •yîûyöì“þ îûöìëûöìŠéÐ
35. (d) ”%öì• !¦þÝþy!›˜ A, B ~î‚ D íyöì„þÐ ”%öì• „þÄyœ!¢ëûy› ~î‚

x˜Äy˜Ä þ™%!ÜT„þîû vþzþ™y”y˜ vþzþ™!ßþi“þ íyöì„þÐ ”%öì• !¦þÝþy!›˜ C
íyöì„þ ˜yÐ

36. (c) „þÄyœ!¢ëûy› £y£zvÈþ:y£zvþ ¢y•yîû’ „þ!œ‰%þ˜ ˜yöì› þ™!îû!‰þ“þ ~î‚
~îû îûy¢yëû!˜„þ ¢)e Ca(OH)2Ð ~!Ýþîû ~„þ!Ýþ ¡ìvþü¦%þ‹y„þyîû
ßþ³þ!Ýþ„þy„þyîû †àþ˜ xyöìŠéÐ

37. (c) þ™!Øþ›îöìD ²Ìy® =îû&cþ™)’Å …!˜‹=!œ £œéôôôé
„þëûœyéôô î•Å›y˜– î¤y„%þvþüy– î#îû¦)þ›– ”y!‹Å!œ‚– ‹œþ™y£z=!vþü
~î‚ þ™%îû&!œëûyÐ
!‰þ˜y›y!Ýþéôô vþz_îû ç ”!Çþ’ 24 þ™îû†’y– î¤y„%þvþüy– î#îû¦)þ›–
î•Å›y˜– ý†!œ– ö›!”˜#þ™%îû– þ™%îû&!œëûy ö‹œyÐ
šþyëûyîû ö„Ïþéôô î¤y„%þvþüy– î#îû¦)þ›– î•Å›y˜Ð

38. (a) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 243M ˜‚ •yîûy x˜%¢yöìîû ˜y†yœÄyuþ–
ö›‡yœëû ~î‚ !›öì‹yîûy› Šéyvþüy ¢›hßþ îûy‹Ä ~î‚ ö„þwŸy!¢“þ
xMþéœ=!œöì“þ þ™Mþéyöìëû!“þîûy‹ îÄîßþiy !î”Ä›y˜Ð

39. (c) “%þœ¢# ”y¢ îûy›‰þ!îû“þ ›y˜¢ îû‰þ˜y „þöìîû!Šéöìœ˜Ð ~!Ýþ !£¨%
¢y!£öì“þÄîû x˜Ä“þ› ö×Ûþ îû‰þ˜y !£öì¢öìî !îöìî!‰þ“þÐ

40. (c) ˜îm#þ™öì„þ òîy‚œyîû x:öìšþyvÅþó îœy £ëûÐ ~!Ýþ !îöìÙ»îû ¢‚ßþ,ñ!“þîû
=îû&cþ™)’Å vþzê¢Ð

41. (a) B O Q D E R T G
+3
+3
+3
+3

A N P C D Q S F
+3
+3
+3
+3

42. (b) (3)3 – 3 = 27 – 3 = 24
(4)3 – 4 = 64 – 4 = 60
 (6)3 – 6 = 216 – 6 = 210
(7)3 – 7 = 343 – 7 = 336

43. (d) £z̃ šÏ$þöìëûOy £œ ¦þy£zîûy¢‡!Ýþ“þ öîûy† ç Ýþy£zšþöìëûvþ £œ
îÄy„þöìÝþ!îûëûy ‡!Ýþ“þ öîûy†Ð

44. (a) 5 + 2 = 7
2 + 7 = 9
7 + 9 = 16
9 + 16 = 25
16 + 25 = 41
~…yöì̃  þ™îûî“Åþ# ¢‚…Äyîû ¢yöìí þ™)îÅî“þ# ¢‚…Äy öëy† „þîûy
£öìëûöìŠéÐ

45. (b) îûy‹#öìîîû ßþf#îû ¢hsþy˜ôôôéîûy‹#öìîîû ¢hsþy˜Ð ›!£œy!Ýþîû ›y £œ
îûy‹#öìîîû ¢hsþyöì̃ îû !”!”›yÐ ¢%“þîûy‚ ›!£œy!Ýþ £œ îûy‹#öìîîû
ßþf#Ð

46. (d) E

B

A

F

D

C

47. (a) ²Ìöì“þÄ„þ!Ýþ îöì’Åîû ßþiy˜#ëû ›yöì̃ îû =’šþœ £œ !e¦%þöì‹îû ›yöìGþîû
¢‚…ÄyÐ
xíÅyê N × E × G = 14 × 5 × 7 = 490
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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48. (b)

C

D

B

E
10 m

10 m

20 m

20 mF

A

AF = (AB + BF) = AB + (BF – EF)
= AB + (20 – 10) = 10 + 10 = 20 !›Ýþyîû ”!Çþöì’

49. (b) ÷„þœyöì¢îû ›öì“þ– ”#þ™öì„þîû ‹§Ã!”˜éôô 21, 22, 23, 24,
25, 26, 27 ö› ›yöì¢ ~£z !”˜=!œîû ›öì•Ä ~„þ!”˜Ð
†#“þyîû ›öì“þ– ”#þ™öì„þîû ‹§Ã!”˜ ö› ›yöì¢îûéôô 13, 14, 15,
16, 17, 18, 19, 20, 21 ~£z !”˜=!œîû ›öì•Ä ~„þ!”˜Ð
öë !”˜!Ýþ ”%‹öì̃ îû ›öì“þ ~„þ£z– ö¢Ýþy £œ 21 ö›Ð
 ”#þ™öì„þîû ‹§Ã!”˜ 21 ö›Ð

50. (a) Q
51. (c) A B C

I
J

H G F E D
!e¦%þ‹=!œ £œ AHG, AIG, AIB, JFE, CJE ç CED,
ABG, CFE, ACJ ç EGI, ACE, AGE, CFD, AHE.
ö›yÝþ 6 + 4 + 3 + 1 = 14!Ýþ !e¦%þ‹

52. (a) þ™y!…
š%þœ

›y %̃¡ì

53. (c) 4 + 6 = 10 ~î‚ 10 + 5 = 15
~„þ£z¦þyöìî– 5 + 7 = 12 ~î‚ 12 + 6 = 18

54. (b) 4 8 14 24 42 76

+4 +6 +10 +18 +34

+2 +4 +8 +16
55. (a) B – 2

A – 1
R – 18
A – 1
S – 19
A – 1
T – 20
  + 62

56. (c) D A U G H T E R
1 2 3 4 5 6 7 8

T E R U D A G H
6 7 8 3 1 2 4 5

A P T I T U D E
1 2 3 4 5 6 7 8

U D E T A P I T
6 7 8 3 1 2 4 5

57. (a) 42 = (7)2 – 7, 56 = (8)2 – 8
~î‚ 110 = (11)2 – 11
~„þ£z¦þyöìî– (12)2 – 12 = 132

58. (c) é ë!” vþzöì”Äy† : ¢šþœ“þy £ëû “þy£öìœ þ™vþüy : Kþy˜ £öìîÐ ö„þ˜˜y
ë!” ¢!àþ„þ vþzöì”Äy† ö˜çëûy £ëû “þy£öìœ ¢šþœ“þy xy¢öìî£z
~î‚ þ™vþüyöìŸy˜y „þîûöìœ Kþy˜ ¢Mþéëû £öìî£zÐ

59. (c) Ö•%›ye !œÝþyîû Šéyvþüy– îy„þ# ¢î„þ!Ýþ ”)îûc ›yþ™yîû ~„þ„þÐ

60. (d) +– ×
– +×

20 × 60  40 – 20 + 10 = ?
? = 20 + 60 – 40 × 20  10
= 20 + 60 – 40 × 2 = 80 – 80 = 0

61. (d) ¢î„þ!Ýþ ~öì„þ xþ™öìîûîû !îþ™îû#öì“þ xîßþiy˜ „þöìîû Ö•%›ye (d)
ŠéyvþüyÐ

62. (b) Red = 2, horse = 7, is = 3, sleeping = 5

63. (a)

M N O P: :: :
AC AD AE AF

+1 +1 +1

+1 +1 +1

64. (d) ‡!vþüîû ‡^ùÝþyîû „¤þyÝþy ç !›!˜öìÝþîû „¤þyÝþy þ™îûßþ™öìîûîû !îþ™îû#öì“þ
íy„þöìî xíÅyê 180° ö„þï!’„þ ›y˜ ¢,!ÜT „þîûöìî 4 öÝþ ç 5 Ýþyîû
›öì•ÄÐ

11So, min 30 H
2

   

11 11180 min 30 4 min 120 180
2 2

        

300 2 600 6min 54
11 11 11


  

¢%“þîûy‚ 4 öÝþ 654
11

!›!˜öìÝþ 180° ö„þy’ ¢,!ÜT £öìîÐ

65. (d) !e¦%þ‹

¢›öì„þy’# !e¦%þ‹!î¡ì›îyý !e¦%þ‹

!î¡ì›îyý !e¦%þ‹ ç ¢›öì„þy’# !e¦%þ‹ vþz¦þöìëû£z !e¦%þ‹ ö×!’îû
xhsþ†Å“þÐ xyîyîû !„þŠ%é !„þŠ% !î¡ì›îyý !e¦%þ‹– ¢›öì„þy’#
!e¦%þ‹ç £öì“þ þ™yöìîûÐ
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

(66-67) :
F

B

C
D

A

E

vþy
˜!

”„
þ

îy
›!

”„
þ

66. (b) vþy˜!”öì„þîû öŸöì¡ì F îöì¢ xyöìŠéÐ
67. (c) îy›!”öì„þîû öŸöì¡ì E îöì¢ xyöìŠéÐ
68. (d) (8 + 7) = 15 × 2 = 30

(1 + 7) = 8 × 3 = 24
(6 + 12) = 18 × 2 = 36

69. (d) T ~îû ßþiy˜#ëû ›y˜ 20
F ~îû ßþiy˜#ëû ›y˜ 6
(20 + 6) × 5 = 130
~„þ£z¦þyöìî L ~îû ßþiy˜#ëû ›y˜ 12
~î‚ B ~îû ßþiy˜#ëû ›y˜ 2
(12 + 2) × 5 = 70

70. (a) 36 – 6 + 3 × 5 ÷ 3 = 74
{36 × (6 ÷ 3) + 5 – 3}
= (36 × 2) + 5 – 3
= 72 + 5 – 3 = 77 – 3 = 74

71. (b) •!îû– 15% £yöìîû x Ýþy„þy öîûöì…!Šéöìœ˜
 ²ÌÙÀy˜%¢yöìîûéôôôé

     11 15 127500 x 7500 x
100 100 100

    

 82500 + 15x = 90000 + 12x
 3x = 7500  x = 2500

72. (c) (A – B)ôé~îû 50% = (A + B)ôé~îû 30%
50 30(A B) (A B)100 100     

 5A – 5B = 3A + 3B  2A = 8B
 A = 4B xíÅyê 400%

73. (c) „þ›öìœîû „þyöìŠé ö›yÝþ 160!Ýþ ‰þ„þöìœÝþ !ŠéœÐ
„þ›öìœîû „þyöìŠé î“Åþ›yöì̃  xî!ŸÜT ‰þ„þöìœöìÝþîû þ™!îû›y’

= 160 ~îû   100100 15 5 %
4

  

= 160 ~îû 55%  55160 88
100

   !Ýþ

74. (d) ößþËyöì“þîû x˜%„)þöìœîû öî†  150 15
10

  !„þ!›/‡rÝþy ~î‚

ö˜ï„þyîû ²Ì„,þ“þ öî† = 10 !„þ!›/‡rÝþy
 ößþËyöì“þîû öî† = (15 – 10) = 5 !„þ!›/‡rÝþy
 ößþËyöì“þîû ²Ì!“þ„)þöìœ ö˜ï„þyîû öî†
= (10 – 5)  = 5 !„þ!›/‡rÝþy

 ößþËyöì“þîû ²Ì!“þ„)þöìœ 150 !„þ!› ”)îûc x!“þe«› „þîûöì“þ

ö˜ï„þy!Ýþîû ¢›ëû œyöì†  150 30
5

   ‡rÝþy

75. (b) A, Béôé~îû !“þ˜=’ „þ›ÅÇþ›“þy ¢Á™§¬
•îûy ëy„þ– A ~„þy „þy‹!Ýþ x !”öì̃  „þîûöì“þ þ™yöìîû
“þy£öìœ B ~„þy „þy‹!Ýþ 3x !”öì̃  „þîûöì“þ þ™yöìîû

1 1 1
x 3x 3

   4 1
3x 3

  x 4 

76. (a) „þ– … ç †éôé~îû œ¦þÄy‚öìŸîû x˜%þ™y“þ

=
1 1 1 1: :1
4 6 4 6

   
 

 = 3 : 2 : 7

•!îû “þyöì”îû œ¦þÄy‚Ÿ ëíye«öì› 3x, 2x ç 7x Ýþy„þy
 3x – 2x = 700  x = 700
 †éôé~îû œ¦þÄy‚Ÿ = (7×700) Ýþy„þy
= 4900 Ýþy„þy

77. (b) 33 13 13 3






33 13 10
3

 


 33 33 10

 


33 33
10

  30 10 433 3
33 11 11

    

78. (b) ˜“%þ˜ öœy„þ!Ýþîû îëû¢ = 40 + 120
5

  = 44 îŠéîû

79. (c) þ™yöìeîû ›yþ™ 435, 493 ç 551éôé~îû †¢y= = 29 !œÝþyîû
þ™yöìeîû ¢‚…Äy = 15 + 17 + 19 = 51!Ýþ

80. (b) •!îû ¢‚…Äy ”%!Ýþ 4x ç 5x
œ¢y= = 20x = 100  x = 5
 ¢‚…Äy ”%!Ýþîû ¢›!ÜT = 9x = 9 × 5 = 45

81. (b) r = 7, h = 24  2 2h r 25   

!Ýþ˜ ²Ìöìëûy‹˜ =  r r 

 22 7 25 7
7

     = 704 î†Å ö¢!›

82. (b)
   2 2856 167 856 167

856 856 167 167
  
  

    
    

2 2

2 2

2 856 167

856 167






= 2

83. (d)
1 1 1 11 1 1 ... 1
2 3 4 88

             
     

3 4 5 6 88 39 89. . . .... . 44.5
2 3 4 3 87 88 2

  
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84. (b) •!îû– ¢!àþ„þ vþz_öìîûîû ¢‚…Äy = x
x.1 – (20 – x).1 = 8
 x – 20 + x = 8
 2x = 28
x = 14
 ö¢ 14!Ýþ ¢!àþ„þ vþz_îû !”öìëû!ŠéœÐ

85. (d) 20,  30,  40
2,     3,    4
1,     3,    2

10
2

LCM = 10 × 2 × 3 × 2 = 120 ö¢öì„þuþ = 2 !›!˜Ýþ
²Ì!“þ 2 !›!˜öìÝþ ~„þîyîû ‡^ùÝþy=!œ ~„þöìe îy‹öìîÐ

 120 !›!˜öìÝþ ö›yÝþ ‡^ùÝþy îy‹öìî 
120 1

2
 

= 60 + 1 = 61 îyîû
86. (b) 78) 36798 (471

      36738
            60
 ˜)Ä˜“þ› 60 !îöìëûy† „þîûöì“þ £öìîÐ

87. (b) •!îû– ¢‚…Äy=!œ 3x, 4x, 5x
LCM = 3 × 4 × 5 × x = 60x
60x = 1200, x = 20
 Ç%þo“þ› ¢‚…Äy = 60

88. (c) ö›ï!œ„þ ¢‚…Äy=!œ £œéôô
2, 3, 5, 7, 11, 13, 17, 19, 23

†vþü 
2 3 5 7 22 13 17 19 23

9
       



100 111
9 9

 

89. (a) öÝþ!îöìœîû ö›yÝþ ›)œÄ = 1227 × 5 = 6135

ö‰þëûyöìîûîû †vþü ›)œÄ 
8280 6135 2145 165

13 13


  

90. (b)
1 475 19237 %
2 200 8

 

 ˜“%þ˜ ¢‚…Äy = 19 ~î‚ ›)œ ¢‚…Äy = 8
¢‚…Äy ”%!Ýþîû xhsþîû = 19 – 8 = 11
²ÌÙÀ›öì“þ– 11 unit = 1320
1 unit = 120
 ›)œ ¢‚…Äy!Ýþ £œ = (8 × 120) = 960

91. (c) 60 !œÝþyîû ”%• öíöì„þ 6 !œÝþyîû ”%• “%þöìœ !˜öìœ ö›yÝþ þ™!îû›yöì’

”%öì•îû þ™!îû›y’ 
60 6 54 9

60 60 10


  

xî!ŸÜT ”%öì•îû þ™!îû›y’ 
9 9 960

10 10 10
   

729 6 43.74
100


  !œÝþyîû

92. (b) •!îû– 1 !„þöìœy@ùÌy› = 1000 @ùÌyöì›îû ”y› = 1000 Ýþy„þy
900 @ùÌy› þ™’Ä !”öìëû ”y› ö˜ëû = 1000 Ýþy„þy

œyöì¦þîû Ÿ“þ„þîûy £yîû 
100 1100 11 %
900 9

  

93. (a) A : B = 1000 : (1000 – 100)
= 1000 : 900 = 10 : 9
B : C = 400 : (400 – 40)
= 400 : 360 = 10 : 9

~…˜ 
A 10 10 100
B 9 10 90


 


B 10 9 90
C 9 9 81


 


A : C = 100 : 81
²ÌÙÀy˜%¢yöìîû 5 × 100 : 5 × 81 = 500 : 405
 A, Côéö„þ þ™îûy!‹“þ „þîûöìî = (500 – 405)

 = 95 !›ÝþyöìîûÐ
94. (a) !‹ê ~„þy „þy‹!Ýþ „þöìîû 10 !”öì̃

x!˜Ÿ ~„þy „þy‹!Ýþ „þöìîû 15 !”öì̃
10, 15 ~îû œ¢y= = 30
!‹ê 1 !”öì̃  „þy‹ „þöìîû 3 x‚Ÿ
x!˜Ÿ 1 !”öì̃  „þy‹ „þöìîû 2 x‚Ÿ
5 !”öì̃  „þöìîû 5 × 2 = 10 x‚Ÿ
ö›yÝþ „þy‹ = 30 îy!„þ „þy‹ = (30 – 10) = 20
îy!„þ „þy‹ !‹ê ç x!˜Ÿ ~„þöìe „þîûöìîéôô

20 20 4
(3 2) 5

 


!”öì̃

95. (a) 7 ‹˜ þ™%îû&¡ì = 10 ‹˜ ›!£œy
14 ‹˜ þ™%îû&¡ì = 20 ‹˜ ›!£œy
 14 ‹˜ þ™%îû&¡ì ç 20 ‹˜ ›!£œy = 40 ‹˜ ›!£œy
10 10 40 x

100 600
 



60x 15
4

   !”˜

96. (c)

x
x

x x 1

x 1 x x x

22
22 2

2 2 2 .2 2





 
    

 

 
x x x

x x
2.2 2 1 2 (2 1) 3

2 2 (2 1) 2.2 1 2
 

   


97. (d) 9599 99 95
99

 

 99 99 95
99 95

99
 

  

= (99 × 99) + 95 – 95
= 9801

98. (b) î“Åþ›yöì̃  ßþºy›#éôßþf#îû ö›yÝþ îëû¢
= (23 × 2 + 5 × 2) = 56 îŠéîû

xÄy!‰þ¦þy¢Å
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ßþºy›#– ßþf#– „þ˜Äy !“þ˜‹öì̃ îû ö›yÝþ îëû¢ = 20 × 3 = 60
îŠéîû
„þ˜Äyîû îëû¢ = 60 – 56 = 4 îŠéîû

99. (c) A „þy‹!Ýþ „þöìîû 10 !”öì̃
B „þy‹!Ýþ „þöìîû 12 !”öì̃
C „þy‹!Ýþ „þöìîû 15 !”öì̃
ö›yÝþ „þy‹ = 60 x‚Ÿ [10, 12, 15 ~îû œ¢y=]
A 1 !”öì̃  „þöìîû 6 x‚Ÿ
B 1 !”öì̃  „þöìîû 5 x‚Ÿ
C 1 !”öì̃  „þöìîû 4 x‚Ÿ
²Ìí› 2 !”˜ A, B, C ~„þ¢yöìí ö›yÝþ „þy‹ „þöìîû
= 2(6 + 5 + 4) = 20 x‚Ÿ
C „þy‹!Ýþ ¢Á™§¬ £îyîû 4 !”˜ xyöì† ‰þöìœ ëyëû xíÅyê ç£z
4 !”˜ B ~„þy „þy‹!Ýþ „þöìîû B 4 !”öì̃  „þöìîû (5 × 4) =
20 x‚Ÿ

îy!„þ „þy‹ B ç C „þöìîû
îy!„þ „þy‹ {60 – (30 + 20)} = 10 x‚Ÿ

 B ç C ~îû ¢›ëû œy†öìî 
10
9

  !”˜

ö›yÝþ ¢›ëû 10 642 4
9 9

    !”˜

100. (b) 16.58 !›Ýþyîû = 1658 ö¢!rÝþ!›Ýþyîû
8.32 !›Ýþyîû = 832 ö¢!rÝþ!›Ýþyîû
1658 ç 832éôé~îû †¢y= = 2
î†Åy„þyîû Ýþy£zœöì¢îû ²Ì!“þ!Ýþ •yöìîûîû ÷”‡ÅÄ = 2 ö¢!rÝþ!›Ýþyîû

 Ýþy£zœöì¢îû ¢‚…Äy 
1658 832

2 2





= 829 × 416 = 344864

——————
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